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 SPPI 11 Calculation    
            

                                     Total number of children whose evaluations were completed within 60 days 
                                        (or State-established timeline*) 
                                                             
                                                           Divided by    
                  
     Number of children for whom parental consent to evaluate was received 

 
                                                         Multiplied by         
 
                                                                 100  
 

    Account for children included in (a), but not included in (b). Indicate the range of days beyond  
the timeline when the evaluation was completed and any reasons for the delays.  

 
                                                 *Texas established timeline found in Texas Education Code §89.1011 
                  
                                                                         (Data reported in the TSDS Child Find Collection) 
 

  

 SPPI 11 Calculation Example  
  
 

a. # of children for whom parental consent to evaluate was received   100 

b. Total # of children whose evaluations were completed within 60 
days (or State-established timeline) 

 96 

b.1.  # determined not eligible and whose evaluations and  
        eligibility determinations were completed within 90 days  
        (or State-established timeline) 

8  

               b.2.  # determined eligible and whose evaluations and eligibility  
                       determinations were completed within 90 days (or State- 
                       established timeline)   

88  

Percent Completed Within Timeline Calculation 
                                                                               Percentage = [(b.1. + b.2.) / a] x 100 
                                                = [(8 + 88) / 100] x 100 
                                  = (96 /100) x 100 
                                 = .96 x 100 
                                 = 96% 
 

  

https://texreg.sos.state.tx.us/public/readtac$ext.TacPage?sl=R&app=9&p_dir=&p_rloc=&p_tloc=&p_ploc=&pg=1&p_tac=&ti=19&pt=2&ch=89&rl=1011
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